Motors | Automation | Energy | Transmission & Distribution | Coatings

CPCS-D AND PCSD-01 KITS - CFW-11/CFW70X
KITS CPCS-D Y PCSD-01 — CFW-11/CFW70X
KITS CPCS-D E PCSD-01 — CFW-11/CFW70X

=

Clamp A
“ Abrazadera )
Abracadeira Control Cables

> Cables de Control"”

Screw M3 x 8 )
% X o M3 X 8 Cabos de Controle
Parafuso M3 x 8 J
& Clamp N -
"‘/\“,o Abrazadera
- Abragadeira Power Cables
% ~  Cables de Potencia
Screw M4 x 16 / M4 x 35 Y
Tornillo Mé x 16 / M4 x 35 Cabos de Poténcia
Parafuso M4 x 16 / M4 x 35 )
%  SpacerM3x5.8 Remote HMI
@ Separador M3 x 5.8 HMI Remoto
Espagador M3 x 5.8 HMI Remota

. (1) Not included in PCSx-01 kit.
* Torque M3:0.5 N.m (4.4 Ibf.in) (1) No incluido en el kit PCSx-01. m E g
M4: 1.7 N.m (15.0 Ibf.in) (1) N&o incluso no kit PCSx-01.

Document: 0899.5636 / 02
English/Espanol/Portugués



